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SELECTION
8 ENGLISH
N TERM - II /,

(" Poem : Making Life Worth While )

(Memoriter)

Every soul that touches yours -
Be it the slightest contact -
Get there from some good;

Some little grace; one kindly thought;
One aspiration yet unfelt;
One bit of courage
For the darkening sky;
One gleam of faith
To brave the thickening ills of life;

One glimpse of brighter skies -

To make this life worthwhile

And heaven a surer heritage.
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Unit - 1- Prose: Sir Isaac Newton-
The Ingenious Scientist

MIND MAP
* |saac Newton was born on 25" December 1647 at Woolsthrope in England.
* His mother married a clergyman after his father's death.
* He stayed with his kind grandmother.
* As a boy he was remarkable for his ingenuity.
* He manufactured many curious articles.
* His friends suggested his grand mother to apprentice him to a clock maker.
* |[saac manufactured water clock and sun dial.
* He also calculated the strength of the wind by jumping againstiit.
* He constructed a model of windmill which was a size of a box-traps.
* |t even ground handful of wheat grains when it was putinto the little hopper.
*When he grew old he was engaged reading books on mathematics and natural philosophy.
*When his mother's second husband died he was asked to leave school and assist his
mother in farming.
* Later went back to school and joined the university of Cambridge.
* Found the nature of light, discovered the force of gravitation.
* He acquired great renown and was made member of parliament.
* He was never proud and thought thathe had a lot to learn.
* He died in 1727 when he was 85 years old.

Warmup
In pairs, identify the great thinkers of the world and write the names from the box.
Vivekananda, Aristotle, A. P. J Abdul kalam,
Einstein,
C.V. Raman, Plato, Buddha, Socrates

Einstein C.V.Raman Socrates
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Section -1

Summary:

* Isaac Newton was born on 25" December 1647 at the small village of Wools thorpe
inEngland.

* When Isaac's father died Mrs. Newton married again to a clergyman and went to
reside at North Witham.

* |[saac stayed with hisgrandmother, whowas very kind to him.

* In his early years itself Isaac was remarkable for his ingenuity in all mechanical
occupations.

* With alittle setoftools and saws that he had, he manufactured many curious articles.
* Allhisneighbours admired the things manufactured by him.

* His grandmotherfeltvery proud of him.

* Some of his friends suggested his grandmother to apprentice him to a clock maker
for the taste of mathematics which he had would help him to manufacture curious
clocks.

* |[saac had already manufactured a water clock which used dropping of water
mechanismtofindtime.

* Onecouldtellwhatwas the time by means of abowl of water.

* He had alsomade asundial. These two helped hisgrandmothertobe punctual.

* [saacpossessed awonderful faculty of acquiring knowledge by the simplestmeans.
* He found the strength ofthe wind by jumping against the wind.

* By thelength of his jump, he calculated the force of the wind.

* [saacwenttothe wind mill whichwas near his grandmother's house.

* He examined its parts thoroughly and learntthe mechanism ofits working.

* He constructed a model of windmill whichwas the size ofa box-traps.

* Its sailswere made out oflinen anditwhirled round very swiftlyin a draught of air.

* [tevenground a handful of wheatwhen putinto the little hopper.

Read and Understand
A.Fillintheblanks.
1.lsaac Newtonwasbornat..................
Ans : Asmallvillage of Woolsthorpein England.

2.Grand motherwas advisedto apprentice himtoa..............
Ans:clockmaker.

3.Isaacmade aclock,bythedroppingof.............
Ans :water

4.The sun-dialmade by Isaacis stillin existenceat.............
Ans :woolsthorpe.

5. Isaac constructed amodel of the.........
Ans : wind mill.

B.Choosethecorrect synonyms fortheitalicized words.

1.Isaacwas chiefly remarkableforhisingenuity.

a)Common b)notable c)neglected d)Unknown
Ans:b)notable
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2.Hewillmake a capitalworkman.
a)Wealth b)excellent  c)profitable d)head
Ans :c)profitable
3. Nobody couldtellwhatthe sunshinewas composed of.
a)Made b)known c)full d)felt
Ans:a)Made
4.Buthe caredlittleforearthly fameandhonors.

a)Disrespect b)attraction c¢)proud

d) popularity
Ans :d)popularity

Glossary:

ingenuity - theabilitytoinventthings/creativity

contrived - created/invented

apprentice - worksforsomeonetolearnskills

acquiring - gettingknowledge orskill

gauge - hereestimate/determine

pried - investigate

hoppers - funnelshapedbinsforfeedinggrainsinto mills.
SYNONYMS:

1. beheld - saw 2. destined - intended
3. mystery - secret 4. reside - livein
5. remarkable - extraordinary 6. ingenuity - creativity
7. manufactured - make 8. aid - help
9. contrived - forced 10.curious - unusual
11. vast - huge 12.admiration - joy
13. weary - tired 14.apprentice - trainee
15. confessed - admit 16.possessed - own
17. faculty - power 18.gale - storm
19. pried - investigate 20.revolve - spin
21. hipper - receptacle 22.whirled - rotate
23. swiftly - quickly 24 .draught - below
25. sufficient - enough 26.converted -

changed

ANTONYMS :

1. mystery x known 2._creation X destruction
3. kind X cruel 4.remarkable  x ordinary

5. curious x indifferent 6.vast X tiny

7. admiration x dislike 8.weary X enthusiastic
9. confess x deny 10. existence X extinct

11. swiftly x slowly 12. sufficient X insufficient
13. construct x demolish

Extra Questions:
1.Whatwas Newtonremarkable for?
Ans : Newtonwas chieflyremarkable for hisingenuity in allmechanical occupations.

2.Whatdidgrand mothertellabout Newton?
Ans : Grandmother told that Newton would make a capital workman and be a rich
man before he died.
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3.Whathelped grandmother tofindtime?
Ans : Water-clockand sun-dial made by Isaachelped grandmothertofind time.

4. Wheredidlsaacgofrequentlyandwhatdid hedothere?
Ans : |saac went to the wind mill frequently. He spent whole hours in examining its
various parts.

5. Whatwere the sails made of?
Ans : Thesailswere made oflinen.

Section-ll
Summary:

* Whenlsaacwasfourteenyears old hismother's second husband died.

* So his mother wished him to leave school and assist her in managing the farm at
Woolsthorpe.

% Butwhen his mother came to know that he wanted to become a scholar, she sent him
backtoschool.

* Then hejoineduniversity of Cambridge.

* He was the first who found the nature of light and told what the sunshine was
composed of.

* He also discovered the force of gravitation which kept the heavenly bodies in their
course.

* Hehadsearchedoutallthe laws, by which the planets were guided through the sky.
* As a boy he found out the mechanism of a wind mill and as a man explained the
mechanism ofthe universe.

* Mostofhistimehe spentgazing atthe heavenly bodies throughatelescope.

* Newtonacquiredgreatrenownandwas made amemberofparliament.

* Healsoreceivedthe honorofknighthoodfromtheking.

* Henevercaredforearthlyfameand honorsand he neverfeltproud of hisknowledge.
* Allthat he had learned only made him feel how little he knew in comparison to what
remained tobe known.

* Hediedin1727,whenhewas85yearsold.

* George remarked that if Sir Isaac Newton had concentrated more on mechanical
contrivances he might have found out the steam engine and railroads and other
inventions.

Read and Understand

A.Choosethecorrectantonymfortheitalicized word.

1. His Grandmotherwas verykind tohim.

a)affectionate b)loving c)disrespectful d)cruel
Ans:d)cruel

2.Theboyseemedtohavea taste formathematics.

a)delicious b)sweet c)dislike d)against
Ans:c)dislike

3.lsaac possessed awonderfulfaculty ofacquiringknowledge.

a)Owned b)controlled c)lacked d)Have

Ans:c)lacks
4.Hewasobservedtobe usually busywithhistools.
a)Common b)rarely c)unwantedly d)usually
Ans:b)rarely
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B.Answerthefollowing questionsinasentenceortwo.
1.Who was taking care of Newton after his father’s death?
Ans: Newton'sgrandmotherwas taking care of him after his father's death.

2.Whatdidlsaac manufacture athisyoungage?
Ans: Isaacmanufactured water clock, sun dialand wind millathis young age.

3.Howdidtheyoungboyfindthe strength ofthe wind?
Ans : They young boy jumped against the wind and by the length of his jump, he
calculated the strength ofthe wind.

4. Why were his friends attracted by the wind mill?
Ans : Isaac's friends were attracted by the wind mill because it was so pretty and
wonderfulthatthey had everseenintheworld.

5. Howwas he honoured by the king?
Ans : Hereceived the honorofknighthood from the king.

C.Answerthefollowinginabout100words.
1.Whydid some of Newton's friends advice his grandmotherto apprentice himto
aclockmaker?

Ans : Some of Newton's friends advised his grandmother to apprentice him to a
clockmakerbecause he had ataste formathematics besides his mechanical skill. They
thought that it would be useful to him in that profession. In due time, he would set up for
himself and would manufacture curious clocks because he had already manufactured
a water clock which never used a pendulum but dropping of water mechanism. One
couldtellthetime by means of abowl of water. He made a sun-dial also.

2.Howdid Newtonlearnaboutthe way awindmill operated ?

Ans : Isaac had a habit of going to the wind mill that was near his grand mother's
recidence. The windmill operated on anew plan. He spentwhole hours in examining its
various parts. While the mill was at rest, he pried into its internal machinery. When its
sailswerein motion due to wind, he watched the process by which the mill-stones were
made to revolve and crush the grain that was put into the hopper. This is how he learnt
aboutthe wayawindmill operated.

3.Mentionsome of Newton's inventions.

Ans :Reflecting telescope was invented by Isaac Newton. He discovered the three
laws of motion, calcus the study of change and colour spectrum and the force of
gravitation.

Glossary:

enchanted - delighted

miniature - verysmallmodel
curiosity - eagerness

accustomed - somethingtofamiliarwith
gazing - looking stedilyandintenthy
renown - fameandrespect

ceased - stopped
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SYNONYMS:

1. enchanted - delight 2. deficiency - lack

3. quadruped - havingfourfeet 4. curiosity - interest
5. reverential - admire 6. composed - made up of
7. permitted - allowed 8. accustomed - habitual
9. lofty - giant 10.gazing - stare

11. existence - alive 12.renown - fame

13. ceased - stop 14.earnestly - seriously
15. fame - popularity 16.endurable - bearable
17. contrivances - device 18.endowed - provided
19. accomplishment - achievement 20.revitalize - strengthen
21. miniature - mini 22.observed - notice

23. current - present 24 .passion - strongemotion
25. probable - expected

ANTONYMS:

1. pretty X ugly 2. deficiency X surplus

3. curiosity x indifferent 4. permitted X ban

5. lofty x short 6. existence X extinct

7. ceased x start 8. earnestly X comical

9. actively X inactively 10.current X past

11. successful x unsucessful

Extra Questions:
1.Whatdidone of hisfriend's tell Isaac about the wind mill?

Ans : One of his friends said that he had forgotten a miller while doing the model
windmill.

2.Whatdidlsaacdowhen he grewolder?

Ans : When Isaac grew older he was either absorbed in thought or engaged in some
book of mathematics or natural philosophy. At night he looked at the stars and
wondered aboutit.

3.Whatdid Newtonfindasaboyandasaman?
Ans : As a boy Newton found out of the mechanism of a windmill and as a man
explainedthe mechanism ofthe universe.

4. WhatdidNewtondo atnight?
Ans : Newton spent night after night in a lofty tower, gazing at the heavenly bodies
through atelescope.

5.Howas Newton honoured?
Ans : Newton acquired great renown and was made a member of parliament and
received the honourofknighthood fromtheking.

6.Whatdowe cometoknowfromAjay's life?

Ans : ThroughAjay's life we come to know that we can turn our hobby or passioninto a
successful career,ifwe arereadytolearnand develop our skills.
Vocabulary
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Homonyms
Two ormore words having the same spelling butdifferent meanings and origins.
S.No.| Homonyms | Meaning Example
1. Address location Thisisheraddress.
Address tospeakto Sheaddressedthe open-arimeeting
2. Band amusicalgroup | The band was playing old songs
Band aring Shealwaysties herhairbackinaband
3. Bat mammal lam afraid of bats
Bat animplement | llove mycricketbat
usedtohitaball
4. Right correct Heisright
Right direction Takearightturn.
Write asentence ofyourwonforeach homonyms.
1.a.Bright - verysmartorintelligent - Ans: Ramisabrightboy
b.Bright - filledwithlight - Ans: Theroomwasdecorated with bright
lights
2. a.Express- somethingdone fast - Ans: H%walksIikeanexpresstrain
b.Express- convey - Ans: Heexpressedhisangertowards his
friend
3. a.Kind - type - Ans: Therearedifferentkinds of oil
b.kind - caring - Ans: Weshouldbekind towards the poor
4. a.Well - ingood health - Ans: lamnotfeelingwell
b. Well - waterresource - Ans: In olden days people used to draw

waterformthewells.

Phrasalverbs.
Aphrase that consists of a verb with a preposition or adverb or both, the meaning of
whichis differentfromthe meaning of its separate parts:
"Catchon"isaphrasalverbwhichmeanstounderstand.

Phrasalverb Meaning Example
callonsomebody visitsomebody | We called on you last night but you weren't
home.
callback Toreturna Could please callbackinten minutes?
phonecall
getrid of Toeliminate Please getrid ofthatold t-shirt. It's so
ragged.
keepon Tocontinue If youkeepon makingthatnoise. lwill
doing something| getannoyed
kick off Tobegin, start The rugby match kicked offat 3 o'clock
look after somebody/ take care of Ihavetolookafter my sick
something grandmother

B8I5in1EM-5]|
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Write the meaningforthe phrasal verbs.
1.lookinto 2.giveup 3. put off 4.geton 5.take off
Ans:
1)toexamine/investigate
2)stop/abandon
3)postpone
4)havefriendlyrelationship
5)toleaveaplace/start

Usethefollowing phrasalverbsinyourownsentence.

1.putupwith 2.keepon 3.lookafter 4.takeover 5.gothrough
Ans:

1) lwasunable to put up with his mischievous behaviour
2)Therainkeptonallnight

3)We shouldlook afterourgrand parents

4)l have decidedtotake overthe business of my father
5)Theteacheraskedthe studentsto gothroughthelessons.

Listening
Listentothe passage carefully and write the answer.
Questions:
1.Namethe scientist.
Ans: SirAlexanderFleming

2.Whatdid hediscover?
Ans :Hediscovered Penicillin.

3.Who approachedthe scientist?
Ans: Twojournalistapproachedthe scientist.

4.Whatwas the questionasked by the journalist?
Ans : Thejournalistasked whathe was thinking aboutrightthen.

5.Whendidthey meetthe scientist?
Ans : Theymeetthe scientistwhenhe was aboutto have breakfast.

Speaking

Theintelligence of animals was being discussed inthe court ofking Krishnadevaraya.
"Cats are most intelligent"”, said one minister. Others in the court agreed with the
minister. They started describing how clevertheir own cats were. Each one claimed his
own catwas smartest.

The king wanted to hold a competition for cats. "The cat that does something which
noothercatcandowillbe declaredthewinner"”, announcedthe king.

The following week, the courtiers came with their cats. Raman of Tenali also brought
his cat to the court. The king wanted to give a treat to the cats first. Milk was served to
the catsingolden plates.

The moment they saw the milk, all cats rushed towards it. Only one cat ran in the
opposite direction-away from the milk. The king was surprised to see this strange
behaviour. Raman said with a smile, "Maharaj, all cats ran towards milk. My cat ran
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away from milk. My cathas done what no other cathas done". Krishnadevaraya agreed
anddeclared Raman's catasthewinner.

When Raman came to collectthe prize, the king asked him how he trained his cattodo
what no other cat could do. Raman smiled, "l wanted to make sure that my cat gets the
bestmilk, So, Iboiled the milk and poured itin a plate to cool it. The moment he saw milk,
my cat came running to lick it up. Before | could stop him, he had the first lick and burnt
histongue. Sincethatday, wheneverhe sees milkinaplate heruns away".

The kingand Raman had ahearty laugh.

Join in any group. Pick and support or oppose any one of the characters.
Say some sentences for the one you support and say some sentences
against the other one, to win.

Writing
E-mail

An electronic mail or email is used to send letters or messages using the internet. An
email is usually considered more informal than a letter, but we can also use itto send a
formal letter or a letter of complaint where necessary. We must use both grammar and
punctuation accuratelyinall ouremails.
Here is anexample of aformal email

Newmessage
To: thehindustantimes@gmail.com
Subject: Globalwarming
DearSir,

Kindly publishthe followingin the columns of you esteemed daily.

Itis a matter of great concern that global warming has started showing its harmful
effects on all of us and the environment. According to the findings of the government
panel on Climate Changes, the consequences of environmental changes include an
increased risk of floods and droughts in many regions. The globalwarming has caused
decreased agricultural productivity due toweather changes.

Rains and snowfalls have occurred in deserts. Snow is melting from glaciers due to
global warming. This may lead to water crisis. The crisis is life threating all over the
globe.

Regards, [Nl A § o0 o@D $ @

Galen.

Write a formal email to the young scientist Mr Sundar Pitchai CEO, Google
requestinghimforan appointmenttointerviewhim.

Ans:
Date: | 22ndAugust2019 |
From: | sairam007 @gmail.com |
To: | sundarpitchaiceo@gmail.com |
Subject: | Foranappointmenttointerview |
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DearSir,
I am Sairam, a senior journalist from 'The Hindu'. We would like to have an
interview with you. Kindly give your appointment and your convenient date and time for
interview.

Grammar
Conjunctions
Connectors

‘connector’is aword oraphrase thatjoins two sentences orgroup of words, together.
Theyare alsoknown as ‘conjunctions’

Coordinating conjunctions join words, phrases or
clauses ofequalimportance.

Those are : and, but, or, therefore, both...and, as well as,
notonly.... butalso, too, noless...than, either.... or, neither...
nor, else, otherwise, still, yet, while, however, so, : e R
consequently, foretc... she ran fast and won the race
Subordinating conjunctions join words, phrases or
clauses ofunequal importance.

Those are : after, as, until,unless, when, whenever, as
soon as, as if, as though, because, before, even if, even
though, if, since, so that, though, till, where, wherever,
whether, while, why, etc...

functionsinapair.

Thoseare:either... or,both.... and, neither....nor, notonly...
but also, such.... as, such... that, so... as, as.... as, as....s0, ho |
sooner... than, rather.... than, whether...or....

| am notonly a singer. but élso a dancer

l. Coordinating conjunctions

These conjunctionsjoinwords, phrases or clauses of coordinatei-e, of equal rank.
Example:

1.Sheranfastandwonthegame

2.God made the countryand man made the town

3. Getready soon oryouwillmiss the bus

4.1requested himbutdid notleads the work

5.Behave betterelse you will suffer.

Il. Subordinate conjunctions.

These conjunctionsjointwo clauses. One of which is subordinate to the other.
OF TIME
Example:

i)Make hay while the Sunshines

ii)Ravireached the exam hall before the school belrang
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OF PLACE
Where, wherever, whence, whither
Example:
i)you willfind yourlooks where you had placed them
ii) You can see the beauty ofthis nature whereveryougoinooty
OF CONCESSION:
Though, although
Example:
i) The alarmwoke me up, eventhoughitwasn'tveryloud.
ii) The child was notcovered, althoughitwas very cold.

OF COMPARISON:
as,them

Example:
i)Heisnotascleverasyou
ii) Rekhais betterthan herbrother

lll. Correlative conjunctions
These pairs of conjunctions require equal structures aftereach one.
Example:
1. Shruthiwants either the chocolates orthe cake.
2.Shesaid thatshe wouldlike to have both the chocolates and the cake.
3. Youcanhave neitherthe cake northeice-cream.
4.1havenotyetdecided whether|willhave the cake ortheice-cream.
5.Sheate notonlythe chocolatesbutalsotheice-cream.
6.Gomathyisboth cute andlovely.

1. Fill in the blanks in the following sentences with suitable conjunctions from
the box:

(If after unless until and till although so because but)

1.lreturnedhome thebus hadstarted. Ans:after
2.lrespecthim heisvery strict. Ans:although

3. Sudharshanwill succeed he works hard. Ans: if

4. Aravinth Arun are classmatesfromtheirchildhood. Ans:and
5.Youcan’thaveyourfruits you take yourfood. Ans:unless

2.Choosethecorrectconjunctions fromthe options giveninthe brackets:
1.Everyone likes him heisvery helpful. (because/for)
Ans:because
2. itwas cloudy, we decided totake an umbrella. (so/as)
Ans:as
3. Rathifound herwatch sheleftit. (wherever/where)
Ans :where
4.ldon’tknow I can afford tobuy anewdress. (whether/why)
Ans :whether
5. hewasill, he wenttothe doctor. (as/though)
Ans:though
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3.Underlinethe conjunctionsinthe following sentences:
1.Revathyand Rohiniare friends.
Ans: Revathyand Rohiniare friends.
2. Ifyousayso, |l willbelieveit.
Ans:Ilfyousayso, Iwillbelieveit.
3. Shekarisintelligentbutcareless.
Ans :Shekarisintelligentbutcareless.
4.Thebuswasovercrowded soArunavoidedtravellinginit.
Ans: Thebuswasovercrowded soArun avoidedtravellinginit.
5. ThoughVinayisill, hedoesn'tskip the class.
Ans:ThoughVinayisill, hedoesn'tskipthe class.

Language CheckPoint

Correct Incorrect Explanation
Icannotsayifhehaspassed [lcannotsaywhetherhehas [|'Whether'isfollowed
theexamornot passedthe examornot. by'or'

Hardlyhad she seenheraunt | Hardly had she seen heraunt |'Hardly'is always
than she stopped fighting whenshe stoppedfighting |followed bywhen.

( Unit - 1- Poem: Making Life Worth while )

MIND MAP
% Any time we may get a contact with anybody.
* We should get some good, a little grace and kindly thought from them.
* We should get some aspiration.
* We should always have courage when we face problems.
* We should have faith to overcome the difficulties
* When we take everything positively, our life will be worth while.
* Our life will be like heaven.

WarmUp
Observe the pictures denotingthe moral values and followthem.
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( Poem : Making Life Worth while )

Every soul that touches yours -

Be it the slightest contact -

Get there from some good;
Some little grace; one kindly thought;
One aspiration yet unfelt;

One bit of courage
For the darkening sky;

One gleam of faith
To brave the thickening ills of life;
One glimpse of brighter skies -

To make this life worthwhile

And heaven a surer heritage

Aboutthe poet:

George Eliot - Mary Ann Evans (1819-1880), known by her pen name George Eliot,
was an English novelist, poet, journalist, translator and one ofthe leading writers of the
Victorian era. She wrote sevennovels.

Explanation:

The poet says that we may come into contact with anybody, any time. When it
happens so we should get some good, some little grace and some good thought from
them. We should get some aspiration from them. We should have courage when we
there is some problem in life. With faith we should overcome the difficulties of life.
When we have courage and faith and see life positively we can make life worth while
andbringheavento earth.

Glossary

grace - elegance;charm.

aspiration - ahopeorambitionofachievingsomething;desire;wish.
courage - bravery;valour

gleam - shinebrightly.

glimpse - glance;quicklook.

worthwhile - valuable;purposeful.

heritage - inheritance.
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Readand understand.
1.Comprehension questions.
1.Whatshould welearnfromevery soul?
Ans : Weshouldlearnsome good from every soul.

2.Whatqualities willhelpus to bravethe thickeningills of life.
Ans : Weshould havefaithtobrave the thickeningills of life.

3.Why should we make this life worthwhile?
Ans : We should make this life worthwhile so thatwe can live happily.

4. Whatdoes the poetassure ifwe make our life worthwhile?
Ans : The poet assures that if we make our life worthwhile we can have heaven on
earth.

5.Pickoutanytwolines ofrepetitionfromthe poem.
Ans: Oneaspirationyetunfelt: onebitof courage.

2.Fillinthe blanks:

1.Weshouldhavea inlife. Ans : aspiration
2.A isneedforthedarkeningsky. Ans:bitofcourage
3.0nemusthavea of brighter skies to make the life worthwhile.

Ans:glimpse

3.Figure ofspeech:
Repetition:
Repetition is a literary device that repeats the same words of phrases a few times to
make anideaclearerand more memorable.
Itisusedtoemphasize afeelingoridea, create rhythm, and bringattentiontoanidea.

“Thewoods are lovely, dark, and deep,

Butlhave promisestokeep

Andmilestogobeforelsleep,

and milestogobeforelsleep.”

-RobertFrost
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ParallelReading.
Just One
One song can spark a moment,
One flower can wake the dream
One tree can start a forest,
One bird can herald spring.

One smile begins a friendship,
One handclasp lifts a soul.
One star can guide a ship at sea,
One word can frame the goal

One vote can change a nation,
One sunbeam lights a room
One candle wipes out darkness,
One laugh will conquer gloom.

One step must start each journey.
One word must start each prayer.
One hope will raise our spirits,
One touch can show you care.

One voice can speak with wisdom,
One heart can know what's true,
One life can make a difference,

You see, it's up to you!

Unit - 1. Supplementary
| The Three Questions |

MIND MAP

* The king had three questions - What is the right time for doing an action, whom to
considerimportantand whatisthe mostimportantthingtodo.
Theking proclaimedthatwhoeveranswerwillberewarded.
Many came withvarious answers.

King was not satisfied.

Hewenttothe hermittogettheanswer.

Hermitwas busy with hiswork.

Theking helped him digthe ground.

Thehermitdid notanswer his questiontillevening.
Theysawawounded mancomingtowards them.

Theking nursed himand made himlie onthe bed.

Inthe morningthewounded man asked forking's forgiveness.
Herevealedwhohewas.

Theking made peace with him.

The hermitsaid thathe had gotthe answers.

Hesaid thatthe presenttimeisimportant.

The personwhoisthere with himinthe presentinimportant.
Doinggoodisthe mostimportantjob.

LR b b b b b b b b b b b o
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Summary:

Section.|

* Oncetherelivedakingwho had three questionsin his mind.

* He wanted know what was the right time to begin an action, who were the most
necessary people and what was the most important thing to do so that he would never
failinany of his attempts.

* He proclaimed throughout his kingdom that he would give a great reward to anyone
who answered his questions.

* Manylearned peopletriedto answer his questions.

* Theysaidthathehadtoplanitinadvance and shouldfollowthe schedule strictly.

* Some said that he should attend to all that was going on and some said that it was
impossibletodecide therighttime foreveryaction.

Some said thathe had to discuss with council of wise men.

Butthe kingwas notsatisfied with any ofthe answer. So, he did notreward anyone.
Thekingdecidedtovisitahermitwholivedlinawood.

He putonsimple clothesandwentto himallalone.

Whenthekingapproached himhe was digging the ground in front of his hut.

The hermitgreeted him and continued hiswork.

The king said to the hermit that he had come to him to know the answer for three
questionsinhismind.

* Hetoldthe questionstohim.

* Thehermitlistenedtoking buthe continueddigging withoutanswering him.

* Theking said to the hermitthatthe hermitlooked very tired and he would help him by
diggingthe ground.

* Whenthe kinghad dugtwobeds, he repeated his questions.

* Butthe hermitdid notanswered him.

* Thekingcontinuedtodig. ltwas evening.

* The king said to the hermit that had come there for an answer to his questions. If he
couldnotgive ananswerhe wouldreturnhome.

* Atthattime someone camerunningtowardsthem.

L b b b o

Read andUnderstand
A.choosethecorrectanswerfromthe options givenbelow
1. Thekingwantedtoknowtheanswersfor................... questions.
a)three b)five c)nine Ans:a)three
2.The hermitlivedina.............
a)cottage  b)palace c)wood Ans:c)wood
kIS I widelyrenowned forhis wisdom.
a)hermit b)messengers c)warriors Ans:b)messengers
B.Fillintheblanks
1. The answer for the first question was to have a ........... to fix the proper time for
everything Ans: table ofdays, months andyears
2. ...onla NN werereferredto know the righttime forevery action

Ans: Councilofwisemen
3.Thekingdecidedtoconsulta.............. Ans: hermit
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C.Whosaidthesewords?

1. “Theyallanswered his questions differently” Ans:Learnedmen

2. Howcanllearntodotherightthingattherighttime? Ans:King

3. “Nowrestawhile—and letme work abit”? Ans:The hermit

D.Giveshortanswersforthefollowingin50words.
1.Whatwere the king’s questions?

Ans : Theking's questions were,
* Howhecouldlearntodotherightthings atrighttime.
* Whoweretherightpersontolistento?
* Whatwasthe mostimportantthingtodo?

2.Was the king satisfied with the answers? Why?
Ans : No, the king was not satisfied with the answers because each one gave
differentanswerstohis questions.

3.Whywasthekingadvised to gotothe magicians?
Ans : The king was advised to go to the magicians in order to know the right time for
everyaction.

4. Whose advice did the people say would be important to the king in answer to
thesecond question?

Ans : Some people said that the king should listen to the advice of his councilors.
Some said priests, others said the doctors; while some said the warriors were the most
necessary.

Glossary

Proclaimed — announce officially

absorbed — takeinorsoakedup

renowned — famous, eminent, distinguished, prominent
affairs — event,incident

Summary:

Section. |l

* Theking sawabearded manrunning outofthe wood.

* Hewasbleeding. He had awoundin his stomach.

* Theking and the hermitattendedto him.

* The king washed the wound and bandaged it with his hand kerchief and with the
towelthe hermithad.

* But it was bleeding. The king tried to stop the flow of the blood by re bandaging the
wound.

* Whentheblood ceased flowingthe manrevived and asked for something todrink.

* By thattime it was night. They carried the wounded man into the hut and laid him on
thebed.

* Thekingwasverytired and he sleptonthefloor.

* When he woke up the next morning, the bearded man asked, for forgiveness to the
king.

* The king was surprised. The bearded man revealed that he was his enemy and he
had cometokill and take revenge on him as he had executed his brother and seized his
property.
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* When he came out from his amush to find him, the guards identified and wounded
him.

* He had come to kill him but the king saved his life, so he asked for forgiveness and
promisedtobe his servant.

* Theybecamefriendly. The king promisedtorestore his property.

* Whenthewounded mantookleave, the king asked the answer for his questions.

% Thehermitrepliedthathe was answered.

* The king was surprised. The hermit replied that if the king had not helped him and
returnedtotheplace, he would have beenkilled by that man.

* So, the important time was digging the beds, the most important person was the
hermitand the mostimportantbusiness was helping him.

* When the wounded man approached them, the king attended to him - this was the
importanttime.

* The mostimportant person was the wounded man and the mostimportant business
was nhursing him.

* The hermit explained that the present time is very important and the person who is
there with him atthat time are very important and the mostimportant affair is to do good
forwhich god has sentusto this world.

Read and understand.

A.Write ‘True orFalse’forthefollowing statement.

1.The bearded manwas an enemy ofthe king
Ans:True

2.Thekingandthehermitrefusedto help the woundedman
Ans:False

3. Thewounded man asked fortheking’s forgiveness
Ans:True

4. Thekingpromisedtorestorethe property ofthe bearded man
Ans:True

B.Matchthewordsincolumn ‘A’ with theirmeaningsincolumn ‘B’

Column'A’ Column'B’
Physician bringback
Restore surprise attack
Repent medical practitioner
Ambush regret

Ans:
Column'A’ Column'B’
Physician medical practitioner
Restore bringback
Repent regret
Ambush surprise attack
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C.Giveshortanswersforthefollowing:
1.Who camerunning out ofthe wood? What happened tohim?

Ans :Abearded came running out of the wood. He was bleeding as there was awound
in his stomach.

2.Howdidthe kingandthe hermitrestorethe life ofawounded man?

Ans : The king and the hermit unfastened his clothing. The king washed the wound
and bandaged it with his kerchief and with the towel ofthe hermit. The king re bandaged
the wound till bleeding stopped. He gave fresh water to the wounded man when he got
revived. Thustheyrestoredthe life ofawounded man.

3.Whydidthe king sleep through the night?
Ans : The king was so tired from his walk and from the work he had done. So he slept
allthroughthe night.

4. Whatwerethe changesinthebehaviourofthewounded manattheend?

Ans : Thewounded man wanted to take revenge on the king. Butwhen the king saved
his life he begged for forgiveness and said that he would be his servant throughout his
lifeandlid hissons alsotodothe same.

D.Answerthefollowingin100words
1. What were the answers to the three questions? What is the message of the
hermit?

Ans : Having taken leave of the wounded man, the king went to the hermit and asked
for the answers to his questions. The hermit replied that he was answered. The king
was surprised. The hermit said that if he had not pitied his weakness and not dug those
beds, he would have left the place and that man would have attacked him and he would
haverepented. So, atthattime the mostimportantwork was digging and the hermitwas
the most important person and his most important job was helping him. When the
wounded man approached him, the mostimportant work was attending to him and the
most important person was the wounded man and nursing him was the important
business. Through this the hermit says that the present time - 'Now' is the important
time. The most necessary person is the one with whom we are and the most important
affairistodothatpersongood.

2.Whydidthe bearded man askforthe king’s forgiveness? Whatdidthe kingdo
toshowhisforgiveness?

Ans : The bearded man wanted to take revenge on the king because he executed his
brother and seized his property. So he decided to kill him on his way back from the
hermit. As the king didn't return he came out of his ambush to find the king. His guards
recognhized themanandwounded him. He escaped fromthem and reached the hermit's
place. When the king saw the man bleeding he dressed hiswound and saved him. Sohe
asked for the king's forgiveness. The king was happy and made peace with him. He not
only forgave him and also sent his servants and his own physician to attend him. He
alsopromisedtorestore hisproperty.
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Glossary

moaning sob, cry

crouched bend, stop (down)

threshold doorstep, entrance

seized snatch, grab, hold of suddenly and forcibly

unfastened undo, disconnect, untie, disjoin

revived restoretolife orconsciousness

ambush surpirse attack, trap, entrap, pounceon

Vocabulary

Commonly confusedwords.
The error with this pair results from mispronunciation and failure to distinguish
betweenanounandaverb.

Example:

Advice/Advise

The C in advice is pronounced with the sound of /s/. Advice is a houn meaning
"recommendationregarding adecision".

The s in advise is pronounced with the sound of /z/. Advise is a verb meaning "to
recommend”
1. Complement: Itissomethingthatcompletessomethingelse.

Compliment : Itisanicethingtosay.

2. Empathy : It is the ability to understand another person's perspective or
feelings
Sympathy: Itisafeeling of sorrow forsomeone else's suffering.
3. Inquiry: Inquiry and enquiry both mean " arequestforinformation”. Itis the
standard American English spelling”.
Enquiry: Itisthe British spelling.
4. Stationary: Itmeansunmoving.
Stationery: It refers to letter writing materials and especially to high quality
paper.
5. Effect: An effectis aresultoraconsequence. (usually a noun) Effect may
alsofunctionas averb meaning"to bring about something".
Affect: An affect is to have an impression, influence, or effect on
something. (usually averb).
6. Lie: Useliewhenthe objectislayingitselfdown.
Lay: Uselay whentheobjectis beinglaid down.
7. Rise: Userisewhenthe objectisliftingitself.
Raise: Useraisewhentheobjectis beingrisen by anotherforce.
Exercise
Complete the following sentences using appropriate confusable words.
1. Thesugarhadanegative.............. onthescience experiment. (effect/ affect)
Ans: effect
2. lamgoingto .............. downforanhour (lie/lay)
Ans: lie
3. Thegaspricescontinueto.............. (raise/rise)
Ans: rise
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4. Shealwaysgivesmegood.............. (advice/advise)
Ans: advice
5. Thewarhadno.............. onoil prices. (affect/effect)
Ans: affect
Anagram.

An anagram is a word or phrase formed by rearranging the letters of another word or
phrase. Anagrams can be useful by helping a learner become aware of both spelling
andspelling patterns.

Example:
(are -ear) (care-race) (god-dog ) (meat-team)

(note-tone ) (won-now ) (earth-heart) (slip-lips )

Exercise:

(bowl-blow) (march-charm) (study -dusty ) (' snail-nails )
(plum-Tump) (chin-inch ) flow -wolf

Antigram.

Anagrams are words or phrases created by rearranging the letters of anotherword or
phrase.Ananagrambecomes an antigramwhenitis opposite in meaningto the original
word orphrase.

Example:
(Santa-Satan) (Egitaghs-Hagpiest ) (United-untied )

@armfulness- Harmless funj

Exercise:

(Earliest-ariselate) (Festival-evilfast ) (Funeral-Realfun )
(Violence -nice love)

Steptosuccess
Read the English folk tale given below and fill up the blank spaces with suitable
words.

There were once three tortoises -afather, amother (1) ababy.(2) onefine
morning during spring, they decided (3) they would like to go for a picnic. They
picked the place (4) they would go, a nice wood at some distance, (5) they
began to put their things together. They got tins of cheese, vegetable, meat and fruits.
They were ready for the picnic. They set out carrying their baskets (6) eighteen
months they satdownforrest. They enjoyed the picnicvery much.

Cthat, and, and, on, after, where)

Ans:
1)and 2)on  3)that 4)where 5)and 6) after
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Connectingtoself
Steps togainwisdom
Wisdomisavirtue thatisn'tinnate, butcan only be acquired through experience.

é * Try newthings
Gaining Experience * Faceyourfear
3 * Make an efforttotalk to people

* Enrichyourselfwith education

Learningfromwise people * Find wise mentors
* Readasmuchasyoucan

/% Behumbleinnewsituations.
* Think before acting.
Putting wisdom Into Practice * Actonyourvalues.
* Learn fromyour mistakes.
\_ * Share yourwisdom with others.
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ECTION

SELECTION 8 MATHS

' SE

8 MATHS

TERM 11
\ Sin1 )
CHAPTER -1. LIFE MATHEMATICS
Exercise 1.1 (iv) In a school of 1400 students, there

1.Fillinthe blanks.

(i) If 30%of r is 150,then xis
Solution:
30%x x =150

30
— xx =150
5
250x100
x |- AL N
3\
x =500

(ii)2minutesis %toanhour.
Solution:

2 minut 2 100 %= 10
minutes = = —_—
N e
1

=3—
3

(iii) If x % of x=25,then =
Solution:
X%xx =25
x
— xXx =25
100
x* = 2500
x =50

are 420 girls. The percentage of boys in
theschoolis .
Solution:
Boys = 1400-420= 980
14Q 70
gﬁ x 18
ELON

-70% %

Percentage ofBoys =

(v)0.5252is__ %.
Solution:
0.5252 = 0.5252 x100%
=52.52%

2. Rewrite each underlined part using
percentage language.

(i) _One half of the cake is distributed to
the children

Solution:

1
2—x100 = 50 %
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(if) Aparnascored 7.5 points outof10in
acompetition.
Solution:

m x10Q 75 %
(iii) The statue was made of pure silver.

Solution:
100 %

(iv)48 out of 50 students participated in
sports.
Solution:

48

N

(v) Only 2 persons out of 3 will be
selectedintheinterview.

Solution:

2
xN0) = 96 %

200

2
66— %

x100

5. A Welfare Association has a sports

club where 30% of the members play

cricket, 28% play volley ball,, 22% play

badminton and the rest play indoor

games. If 30 member play indoorgames.

(i) How many members are there in the

sportsclub?

(i) How many play cricket, volleyball

and badminton?

Solution:

(i) Letthe totalnumberof membersbex
Percentage of members play indoor

3.48 is 32 % of whatnumber?

Solution:
32% X Number = 48
32
mx Number = 48
3 T84, 50
Number= 48x ——
32
Number= 150

4. A bank pays %240 as interest for 2
years for a sum of 33000 deposited as
savings. Find the rate of interest given
by the bank

Solution:

Lettherate ofinterestbe * %

X
3000x2x — =240
100
4
S oApx 1y
~3uMxR

x =4%

games =100-(30 + 28+ 22)
=100-80 =20%
20%xx =30
100 xx =30
30x 160 >
r = ———
28
r = 150
(ii) members play cricket
30x15
= —ﬁ 4 = 45
198
members play volleyball
3
1_426x1,5ﬂ - a2
zwa
members play badminton
3
= —* = 33
2100

6. Whatis 25% of30% of4007?
Solution:

xR/ &-

0

A0Dx 1& X 30
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7. If the difference between 75% of a
number and 60% of the same numberis 1181
82.5,thenfind 20% of the number. —— = 236
Solution: 100
Letthe thenumberbex 236 X100
75 60 = ——F = =200
— XTr-— X T =825 118
100 100
15 10. A number when decreased by 20%
o0 X% ° 82.5 gives 80. Find the number
100 550 -2750 Solution:
T = 825x— = 8260 = 550 Letthe numberbe x
15 5 g 20
20 - — xx =80
& —  x550°= 110 100
180 100z-202
8. If a car is sold for T 200000 from its 190
original price of ¥ 300000 , find the 80x _
percentage for decrease in the value of 100 =80
thecar.
50 100
T = X —
20
r = 100

Solution:
(i)Decreasevalue = 3,00,000-2,00,000

= ¥1,00,000

;SQ L

Decrease percentage = —————
3,8Q,080

100

1
= 33— %
3 3

9. A number when increased by 18%
gives 236. Find the number.

Solution:
Letthenumberbe x

18
X+ — xxr =236
100

2

100x+18x _aan
100

11. A number is increased by 25% and
then decreased by 20%. Find the change
inthat number.

Solution:
Letthenumberbe x
25 125
T+ — = —
100 100
125 20 125
— - — X — I
100 100 100
125 1- 20
— —_— x N
100 [ 100
125 100-20]
— R x [
100 100
125 25 a0\
= —_— x P
100 100 ]
&
100
= — 2 = I
100

& Nochangeinthatnumber.
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12. If the numerator of a fraction is
increased by 25% andthedenominator | _ 90T 90z _ 240
o 2 2 100 300
isincreased by 10%, itbecomes ; i 2701 - 90 goir
Findthe original fraction 7 300 -
Solution: = 180 = 240
\ T 300
Letthe thefractionbe — 100
y 4 300
r =240x ——
25 480~
T+ — T
_ 100 A z =400 &
10 5
Y*100 Y 14. A student gets 31% marks in an
examination but fails by 12 marks. If the
125 pass percentage is 35%, find the
1_9? z 2 maximum marks of the examination.
= =C Solution:
1o ’ 5 Letthe maximummarksbe x
160 35 31 .,
— X - J— xr =
A3 2 100 100
110y 5 4z ;Ez 100
T 2 140 44 100 A
I — —_— X —_— —_— -
Y & 125 125 x =300
15. The ratio of boys and girls in a class
13. A fruit vendor bought some |is 5 : 3. If 16% of boys and 8% of girls

mangoes of which 10% were rotten. He

1
sold33 —% oftherest.Findthe total

3
number of mangoes bought by him
initially, if he still has 240 mangoes with
him. ;f ar
Solution: | etthe total @& =
number of mangoes be x

Number of good mangoes
10 100z -10x 90z
=r- — X = -
100 100 100
Number of remaining mangoes
90xr 100 90x

= - = 240
100 300 100 )

failed in an examination, then find the
percentage of passed students.
Solution:

Ratio of boysandgirls = 5:3
LetBoys =5x
Girls =3z
Boysfailed = 16%
Boyspassed = 84%
Girls failed = 8%
Girlspassed = 92%
Percentage of passed students =
84 92
— xb5xr+—x3x
100 100
x100
8T
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420z + 276
—
8
696
EEN

x 100

87%

Objective Type Questions

16. 12% of250litresisthe same as
of150 litres.
b)15% ¢)20%

c)20%

a)10%
Solution:
Hint:

d)30%

20%

19. When 60 is subtracted from 60% of a
numbertogive 60, the numberis.
a)60 b)100 c)150 d) 200

Solution: d)200
Hint:
Letthenumberbe x

60
— XX - 60 = 60
100

20. 1f48%of48 =64% of x ,thenx=

a)64 b)56

d)36

c)42  d)36

Solution:
Hint:

17. If three candidates A,Band Cisa 3
school election got 153, 245 and 102
votes respectively, the percentage of
votes forthewinneris

a)48% b)49% ¢c)50% d)45%

Solution: b) 49%

Hint: Totalvotes =153+245+102=500
49 245

Percentage ofwinner= —— x 100
500°

= 49%

48 x
— x48= — x 64
10Q,

T6Q,
x =6—48\X48\6 = 36
648
Try these

Find the indicated percentage value of
the given numbers.

18. 15% 0f25% of 10000 =

a)375 b)400 c)425 d)475
Solution: a)375
Hint:

15 25

— X — x10008 = 375

1 100

'“.,;;N\“.T\be\’ 60 Mp 660 852 1200
10%
20%
25%
33%:«,
Solution:

'“n;;bi“."j\bej 6 10 660 852 1200
e 6 24 66 | 852 | 120
o 12 | 48 | 132 | 170.4| 240
bk 15 | 60 | 165 | 213 | 300
B 20 | 80 | 220 | 284 | 400

Send Your Questions & Answer Keys to our email id - padasalai.net@gmail.com



www.Padasalai.Net

SELECTION 8 MATHS

www.TrbTnpsc.com

109 TERM-II 5 in 1

Think.
Anincrease from
200to 600is clearly
a200%increase.
Isn'tit? (check!).
With alotofpride,
the traffic police commissioner of a city
reported that the accidents had
decreased by 200% in on year. He came
up with this number stating that the
accidents had gone down from 600 last
year to 200 this year. Is the decrease
from600to 200, the same 200% as
above ? Justify.
Solution:

) A

X
I = 1+ —
( 100
26Q
(1+ )200
10Q
(1+2) 200
3x200 = 600

Therefore 200to 600 is clearly 200%
increase
) A

( 209,

— # 600
16Q

(1-2) 600
-600

Therefore 600 to 200 is notclearly 200%
decrease

Try these
1.What percentage of adayis 10 hours?
PN 5 25
Solution: o 50
10hoursinaday = — x1966~
212
S 3
125 2
= —=41—%
3 3

2. Divide 7350 among P, Q and R such
that P gets 50% of what Q gets and Q
gets50% of whatR gets?

Solution:
Lettheamountof Pgets = x
50 1
Amountof Qgets= — x =—=x
100
50 1 1
Amountof Rgets = — | —x |=—=
100 2 4
1 1
x+ —x+ —x =350
2 4
42+2x +1x
———— =350
3 350 ;4(3)0 &
4 ~
T = 200
1
Amountof Rgets= — x

1
— X 200 = ¥50
4

Exercise 1.2
1.Fillinthe blanks.

(i) Loss or gain percentage is always
calculatedonthe .
Solution:

Cost Price

(ii) Amobile phoneis sold for ¥8400 at
a gain of 20%. The cost price of the
mobile phoneis
Solution: 100

x S.P

(100 + Profit %)
100

T 100+20
100 14070

= —— X 8400”
2

X 8400

37000
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(iii) Anarticleis soldfor¥ 555 ataloss

of 7? % .Thecostpriceofthearticle

is
Solution: 100
= — - _xS.P
(100 - Loss %)
100
=——, X555
100-75%
100
= X 555
100- 15
2
100x2
= X 555
200-15
e 555m3 z
= —=1X = ¥600
185
3T

(iv) The marked price of a mixer grinder
is < 4500 is sold for I 4140 after

discount. Therate ofdiscountis

Solution:
100-Discount %
= —_— x M.P.
100
100- T
4140 = X 4500
828 92
100- = —— x 199
4500
y'g
- = 92-100=-8
X = 8%

(v)The total bill amount of a shirt costing
¥575 and a T-shirt costing 3325 with GST

of 5%is

Solution:
Billamount = 575 + 325 = 3900
(100+GST%)
Total bill= ——— x Billamount
100 +5
= X 900
100
105 ¢¢ g
= —— X900 = <945
199

2.Ifselling an article for¥820 causes 10%
loss on the selling price, find its cost
price.

Solution:
100
(100 - Loss %)
100
~100-10
1

=$— xsgd

x S.P.

X 820

I911

3. If the profit earned on selling an article
for< 810 is the same as loss on selling it
for ¥ 530, then find the cost price of the
article.
Solution:

LettheC.Pbe =

Profit = Loss
810- x-530
-I-x -530-810

-1340
1340

-2z
2z

x
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4. Some articles are bought at 2 for ¥15 Gain = S.P-C.P.
and sold at 3 for ¥25. Find the gain _ 3.9 =1
percentage. - v -
) Gain
Solution: Gain% = cp =~ 100
C.P.of 2articles = 15 ] T
CP.of larticle = — 0100 =50%
S.P.of 3articles = 325 6. By selling a speaker for Y768, a man
25 loses 20%. In order to gain 20%, how
S.P.of 1article = 3 much should he sell the speaker?
Gain=S.P-C.P. )
Solution:
25 15 100
=3 T 2 P= — xS.P.
(100 - Loss %)
50-45 5 100
= A Cao =— X 768
6 6 100-20
ain 96
Gain% = x 100 N - B
F (100+ Gain %)
6 P- ———— xC.P
- —— x100 100
15 100+20
2 = X 960
100
19 1 1267
=’B/ x£ x 100 = 1E)_111_% = —— x960© = 1152
73 , 9 18

5. If the selling price of 10 rulers is the
same as the cost price of 15 rulers, then
find the gain percentage.

Solution:
LCMof10,15 =30
Letthe S.P.of10rulers= ¥ 30
30
S.P.of1ruler = — =33
10
C.P.of15rulers =330
30
C.P.of1ruler = — =132
15

7.Amansoldtwo gas
stoves for 78400 each.
He sold one atagain of
20% and the other at a loss of 20%. Find
his gain or loss % in the whole
transaction.

Solution:
S.P.of Gasstove1 = 78400

100
P= ——— xS.P
(100 +Gain %)

100

= X 8400
100 +20
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00 70 20 9
= — X = 7000 T = — X = 3207
120 i
? 4
S.P.of Gasstove2 = 78400 (i) )
c.P 10 X S.P. MP= 400 +Discount %) <>
= —— T\ .. +
(100 - Loss %) ( Iscount %)
100 100
. X 8400 =
100-20 y 100-5 D70
w00 240 105 0o 20 630
= —— X 8400 = 10,500 = —— XHI70 = 12,600
95
? 49
Total C.P. =37000 +%10,500 (i
iii
=%17,500 Discount=M.P. - S.P.
Total S.P. = ¥8400 +38400 =¥750 - T615 = 7135
=%16,800 Discount
Discount% = —— x 100
Loss = C.P. - S.P. 9 M.P.
=%17,500 — 216,800 = 3700 135 27 2
= — xmq = 18%
758
Loss % = x 100 ¥y
4 C.P
00 o 9. Find the total bill amount for the data
gl iven bel
17500 given below.

Marked Price Discount

Name of the items

S.No

8.Findthe unknownsz,y andz. (i School bag 500 [ 5% 12%
(i) Stationery 250 T 5%
SNo  Nameoftheitems MarkedPrice SellingPrice  Discount i) e 71250 [ an 18%
(i) Bock % x 8% (iv) Hair dryer 12000 10% 8%
(ii LEDTV ! 1970 5%
(i) Digital clock 50 %15 ? Solution:
Sp (100 -Discount%) (100+GST%
PR P.= X .P.
(S.;>Iut|on : 100 100
i
—_— i L/
p_ (00 -Discount%) o |(i) S.P.ofschoolbag
100 100-5  100+12
= X x 500
100-8 100 100
x = X 225
100
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19,95 96 112 28
= — X —— x-59§
19620 109
10
2
= ¥532
(ii) S.P. of stationery
100-4 100+5
= X X 250
100 100
24’9612 105219 1
= — X —— Xx.25Q
wo = R
4
= T252

(iii) S.P.ofcosmetics

100-8 100 +18
= X X 1250
100 100
23 11859 &
= g X —— X 125q
¥ R
4
= 1357

(iv) S.P. ofhairdryer
100-10 100+28

= X
100 100

9y 128
W X T(\ X Zhﬂa

= Y2304

Total billamount
=7532+7252+31357+%2304

x 2000

4
10.Ashopkeeperbuys goodsat — of
5

7
its marked price and sells them at 5 of

the marked price, find his profit
percentage.

Solution:
LettheM.P.be
7
S.P. = —2X
5
4
C.P. = —T
5
Profit = S.P. - C.P.
7 4q 3
=—X - —T = —ZI
5 5 5
Profit
Profit%= — x100
C.P.
3
—x
5
= —— x100
4
—x
5
3 _5 25
=— X—X = 75 %
& 2 100 o

11. A branded AC has a marked price of
¥37250. There are 2 options given for the
customer. ' '
(i) Selling Priceis ¥37250 “w=

along with attractive gifts

worth 3000 (or)

(ii) Discount of 8% but no free gifts.
Which offeris better?

= 34445
Solution: ]
(100-Discount%)
S.P. = xM.P.
100
100-8

= x 37250

8115in1E.M-8
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46 g5 745

- T x37250- = 337270
100
2

& Discountof 8%isbetter

12. If a mattress is marked for <7500
and is available at two successive
discounts of 10% and 20%, find the
amountto be paid by the customer.

Solution:
100-a 100-b
S.P= X x M.P.
100 100
100-10 100-20
= X X7500
100 100
o 8h 0
——— X —— X 75
108 108
= ¥5400
Objective Type Questions

13. A fruit vendor sells fruits for T 200
gaining ¥ 40.His gain percentageis

2
a)20% b)22% ¢)25% d)16—%
3
Solution: c)25%
Hint: .
Gain
Gain% = x 100
C.P.
5
1»0'49, 5
= —m X1UQ’ =25%
4z

14. By selling a flower pot for ¥ 528, a
women gains 20%. At what price should
shesellittogain25%7?
a)3500 b)I550 ¢)3553
Solution: b) 3550
Hint:

d)3573

100
—_— X
(100 +Gain %)

100

~100+20

510 88

= —— x528 =
e

Z

X 528

2440

(100+Gain%)
100
100 +25

x C.P.

X 440

15. A man buys an article for ¥150 and
makes overhead expenses which are
12% of the cost price. Atwhat price must
hesellittogain5%?
a)3180 b)T168 ¢)T176.40 d)I85

Solution :

Hint:
100 +12

S.P. = X
100

€)3176.40

100+5
100

x150

= 3176.40
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16. The price of a hat is ¥210. What is the 10015
marked price of the hat if it is bought at SP= X 115
16% discount ? =} 100
a)3243 b)3176 ¢)T230 d)T250 85
= — 15
Solution: d)< 250 100 X
Hint: = Y97.75
100 sp Therefore loss for him.
B (100 -Discount %) ' Try these
100 1. By selling 5 articles, a man gains the
“po—e <20 cost price of 1 article. Find his gain
percentage.
50
0\ 100 X%S Solution:
84 Letthe C.P.of 1article=x
A7z o C.P.of5articles = 5z
S.P.of6 articles=6x
= 250 Gain=S.P.-C.P.
17. The single discount which is Gain = 6x—5c.'§ =x
equivalent to two successive discount Gain% = ain x 100
of20% and25% is
() () o, o,
a)40% b)45% <¢)5% d)22.5% v — X100 = 20%
Solution: a)40%
Hint: 2. By selling 8 articles, a shopkeeper
1Q 100_20)( 100-25 gains the selling price of 3 articles. Find
B 100 100 his gain percentage.
4
-1- & X 7815 Solution:
100 a0 Letthe S.P.of 1 article=x
2 S.P.of8 articles = 8r
60 40 o Gain=S.P.of3articles =3z
=1- 00~ 00 0% C.P.of 8articles = S.P. -Gain
= 8x-3x =5
Think Gain
Gain% = x 100
A shopkeeper marks the price of a
marker board 15% above the cost price 3 20
and then allows adiscount of 15% on the = —— X180 =60%
marked price. Does he gainorlose in the A

transaction?

Solution:
LettheC.P. = 2100
M.P. = 3T115
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3. If the C.P. of 20 articles is equal to the
S.P. of 15 articles, find the profit or loss
percentage.
Solution:

LCMof20,15 = 60

LetC.P.of 20 articles = T60

60
C.P.of1article= — = I3
S.P.of15articles = T60
60
S.P.of 1 article = — =734
Gain=S.P-C.P.
= 4-3 =71
Gain
Gain% = x 100
1 1
= — x 100 = 33— %
3 3

(ii) The compound interest on 8000 at
10% p.a for 1 year, compounded half
yearlyis

Solution:
P = 8000
r= 10%
n= 1

ForHalfyear

2n

i
A=P (1+ — )
200

10 2x1
= 8000 (1+ — )
200

2 50 o
‘/&wﬂxw X /éﬁ_ﬂ =

28820
Cl=A-P

= 8820-8000
Cl = 2820

Exercise 1.3

l.Fillinthe blanks.
(i) The compound interest on I5000 at
12% p.a for 2 years compounded

annuallyis
Solution:

r n
A=P [1+ —
( 100)

( . )2
= 50001+ —
100

B000 12 36272
= X X — =
"
Cl = A-P
= 6272-5000
Cl = 31272

(iii) The annual rate of growth in
population of a town is 10%. If its
present population is 26620, the
population 3 years agowas

Solution:
r n
A=P [ 1+ —
100

10 \
26620 = P [1+—

100
1M 10 110

26620=PX — X —— X —
100 ~ 100 ~ 100

22 2
mzssi;/ x18¢/x 100 x100
P=
P X AP XA
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(iv) The amount if the compound )
interest is calculated quarterly, is _ 25
found using the formula = 16800 |1- 100
N 42 75 753
Solution:
. -’rssééxﬁzx— = 79450
A=P |1+ — 4
400

(v) The difference between the S.l1 and
C.lfor 2 years for a principal of 5000
attherate ofinterest8%p.ais

Siray e
C.I-S.1 = P( —)
100
8 2
= 5000(—
(100)
1 8 B4
=/5ﬂﬂﬂx— 732

120 *\_Oﬂ, )

2.SayTrueorFalse.

(i) Depreciation valueis calculated by

r n
theformula P -— .
100

Solution : True

(ii) If the present population of a city is
P anditincreases at the rate of r % p.a,
then the population n years agowould

r
beP [1+ —| .
( 100)

Solution: False

(iii) The present value of a machine is
716800. It depreciates at 25 % p.a. Its
worth after2yearsis 39450.

Solution: True
Hint:
r n
rf )
100

(iv) The time taken for 71000 to become

T 1331 at 20 % p.a compounded
annuallyis 3years.
Solution: False
Hint:
20 \
A= 1000(1+ — )
100
12 12 1
:1ﬂﬂﬁ X _y X i X iﬂ
o oNg
=T1728

(v) The compound interest on ¥16000
for 9 months at 20 % p.a, compounded
quarterlyis< 2522.

Solution: True
Hint:
r 4n
gl
( 20 )yx}%zz
= 16000\ 1+
400
m 2lss a4
= 46000 X — X — X —
Mg 200  4dd
2
= ¥18522
Cl = A-P
= 18522-16000
Cl = 2522
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3.Findthe compoundintereston 73200
at 2.5 % p.a for 2 years, compounded
Solution:

Sy

= 3200 (1+

r

1+ —
100

2.5 )2
0 20.5
1025 1025

199 " 100
20 18 2

168 205
= 3200 x

3362
Cl = A-P

= 3362-3200
Cl = 3162

1
4.Findthe compoundinterestfor2—
2

years on 4000 at 10% p.a, if the
interestis compoundedyearly.
Solution: b
. —Xr
r c
A=P (1+ r ) \1+ —
100 100
1 5
) —x
10 2
=40001+ — + —
100 100
9 ﬁ 21
1 1 1
= AUPP x o A
199~ 109 100
Z
A = 75082
Cl = A-P
= 5082-4000
Cl = 31082

5.Mageshinvested 75000 at12 % p.afor
one yeatr. If the interest is compounded
half yearly, find the amount he gets at
theend ofthe year.

Solution :
r 2n
1+ —

200)

12

2x1
= 5000(
oo)

1+ —
2

-

212

200
212106 515166 53

%5 " By
Z
75618

= 5000 ( )
= B0gP x

6. At what time will a sum of 33000 will
amount to 3993 at 10 % p.a
compounded annually?

Solution:
r n
A=P (1+ —
( 100 )
10"
3000 (1+— ) = 3993
109 1331
( 119 ) 3993
1ogf 30804909

(&)

s> n=3years

11
10

(%)

7. A principal becomes < 2028 in 2 years
at 4% p.a compound interest. Find the
Principal.

Send Your Questions & Answer Keys to

Solution:
r n
A= P [1+ —
100
4 2
P [1+— = 2028
100

our email id - padasalai.net@gmail.com



www.Padasalai.Net

SELECTION 8 MATHS

www.TrbTnpsc.com

119 TERM-II 5 in 1

Ngs‘?\

P 31875

9.Inhowmanyyears willT3375 become
74096 at 13 % p.awhereinterestis

compou nded half-yearly?

Solution:

8.Atwhatrate percentage p.awill< 5625
amount to I6084 in 2 years at
compoundinterest?

|

2

Solution:

|

r

1+ —
100

.
2078 676
ry2 6084
1+— = — =
roy? 26\ 625
1+— = |—
( 100 (25)
r 26
1+— = —_—
( 100 (25)
r 26
_ = [ — -1
(100) ( 25 )
r 26-25
00 25
r 1
00 25
1 4
= g X 1,06
=4%

40
r=18—% = — %
3 3
r 2n
A =P (1+ — )
200
1& 2n
3375 (1+;o‘61) = 4096
15
(16 n 4096
15 - 3375

(16 (16)s
15 "\ 15
3
2n=3; n =—
2
11
oo n = 1— years
> y

10. Find the C.l on 15000 for 3 years if

the rates of interest are 15%, 20% and
25%forl, llandlllyearsrespectively.
b c

ks

100 100

( 100)( 100)

5 % 1365
e

Solution:
a

o)
)

A= P(1+

150006

1¢p
? 25875

15
P9 x 0

A=

Cl
= 25875— 15000

Cl =310875
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{ |[13.What is the difference in simple
interest and compound interest on
T15000 for 2 years at 6 % p.a
compounded annually?

11. The presentheightofa
treeis847cm.Findits
heighttwoyears age, if it
increases at10% p.a.

Solution: Solution:
r \" r \2
- Cl-SIl =P |—
A= P (1+ ﬁ)) (100)
2
10 \2 6
= 15000 —
1y 11;/ _3 3f
- = 1B x = x —
847=P X — x —
100 100 W’ 199
277 =54 #
847x100
MY 14. Find the rate of interest if the
P =700cm difference between C.l and S.1 on ¥8000

compounded annually for2yearsis 320.

12. Find the difference between C.l and

S.1on 75000 for 1 year at 2 % p.a, if the |>°lution:

interestis compounded halfyearly. Cl-SI| = ( )
100
Solution: ro\2
(Yearly) (Halfyearly) 20 = 8000 ( P )
r=2% r=1% 100
n=1 n=2 r \?
P =5000 (— )
100
ry 400
CI-Sl = P|— 2
i (] - (&
_5000( — 20 100
100 r 1
1 1 1 0 20
100 20
=/5¢ X N X —
T I
ool = — X = (]
1 i ok
=— = ¥0.50 15. Find the principal if the difference
2 betweenC.land S.lonitat 15% p.afor3

yearsis T1134.

Solution:

r y r
CI-SI=P(— ) 3+ —
100 100
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15\ ?
134 =P |— 3+
100

15 15
M34=Px — x — x —
100 100 100

3781867220 20 20
1134x 100X 100 1007
15-x 1% 315
&z & 105
27

15
100 )

315

P=316000

Objective Type Questions

16. The number of conversion periods, if
the interest on a principal is
compounded every two monthsis...........

a)2 b)4 c)6 d)12
Solution: c)6
Hint: 1
n= — =6
2

17. The time taken for 34400 to become
34851 at10%,compounded halfyearly is

a)6month.s b)1year

1
c)1 - years d)2years
Solution: b) 1year
Hint:

2n

r
A= P [1+ —
( 200)

10 V"
4851=4400 [1+—
( 200)
4441351, 219 \»
4300 =(E¢)
400
21\ 21\*
(&) = (=
2n =2 &S n=1

18. The costofamachineis 318000
2

anditdepreciates at 16— % annually.
3
Its value after 2years willbe.............

b)T 12500
d)% 16500

a)¥ 12000
c)¥15000

b)T 12500
Hint: 2 50
r= 16?% = — %

S

50
=18000 (1- —
( 300 )

Solution:

r
1- —
100

6,?3320¢ 256 250
- 000X 2 X T
_ 712500

19. The sum which amounts to 32662 at
10% p.ain3 years compoundedyearlyis

a)Y 2000 b)31800
c)%1500 d)T 2500
Solution: a)<T 2000
Hint:

r n
A= P[1+ —
( 100)

10\
2662= P({1+ —
100

2662- p(“_")’

100
247 27 2
10 10 10
P= 2662x —X —Xx —
o g w
P= 32000
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20. The difference between simple and
compound interest on a certain sum of
money for 2 years at 2% p.a is T1. The
sumofmoneyis

2. The price of a laptop depreciates at
4% p.a. If its present price is 724000,
findits price after3 years.

Solution:

r
A=P (1- Ls )
100

4 3
=24000 x|1- —
100

n

24¢¢¢x1% x190% X 1%2

21,233.66

a)¥ 2000 b)¥ 1500
c)T 3000 d)T 2500
Solution: d)¥ 2500
Hint: r\2
Cl-Sl = P|—
(100)
2 2
-r ()
100
50}00‘ 1 50
P= — x —
2"
P= %2500
Try these

1. Find the principal which gives 3420
as C.I at 20% p-a, compounded half
yearlyforoneyear.

Solution:

Cl=P|fi+ —
200

20 100
P =420 x —

P= 32000

Activity

Mukunthan invests ¥30000 for 3 months
in a bank which gives C.| at the rate of
12% p.a, compounded monthly. A
private company offers his S.lattherate
of 12% p.a. What is the difference in the
interests received by Mukunthan? Do
by traditional method and verify your
answer by calculator.

Solution:
(Yearly) (Monthly)
r=12% r= — % =1%

r n
i)
100

1
300001+ —
100

101 101 101

30000 x 1WX 0 X 20

30909.03

Cl = A-P
= 30909.03-30000
Cl =3909.03
Pnr

100
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A L
—300¢¢xﬁx1—¢d =

Cl-SI= 909.03-900 = ¥9.03

900

Exercise 1.4

Miscellaneous Practice Problems

1. Nanda's marks in 3 Math tests T1, T2,
and T3 were 38 outof40, 27 out of 30 and
48 out of 50. In which testdid he do well?
Find his overall percentage in all the 3
tests.

Solution:
38 5
T1 = — x316p =95%
249

079
T2 = = x109 =90%
39

13 = 28 :jw 96%
_— — X p— (1)
50

Hedid T3 testwell.

Overall 95+90+ 96 281
percentage = =
3 3
2
=93 —%
3

2. Sultana bought the following things
from a general store. Calculate the total
billamountto be paid by her.

(i) Medicines costing 7800 with GST at
5%

Solution:
5
Medicines =800(1+—
100
8@p 105 7840
= X — =
109

(ii) Cosmetics costingI650 with GST at
12%

Solution:
Cosmetics (

(iii) Cereals costing ¥900 with GST at
0%

Solution:

Cereals =900

(iv) Sunglass costing T1750 with GST at
18%

Solution:
Sunglass

18
= 1750 (1+—
( 10

, J
;)
35

8. 59
=150 x—
o8
2

= ¥2065

(v) Air conditioner costing 328500 with
GSTat28%.

Solution:
Airconditioner

( - )
= 28500(1+ —
100

_ 128
= 28500 x 9

Total billamount
= 840+728+900+2065+36480

=341,013

= 36,480
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3. P'sincomeis 25% more than thatof Q. 100
By what percentage is Q's income less 0010 X 2200
thanP's? *
100 20 .
Solution: = —— Xx2208. = Y2000
1002 Ho-
Q's incomeis %lessthanP S.P = ¥2200
00+x
100
(100x25 )0/ = ——— x S.P
P 100 -L 9
100 725 o (100 -Loss %)
2500 100
= — % =20% = X 2200
125 100-12
25
4.Gopisold alaptop at 12% gain. Ifithad = 00 x1202090 = %2500
beensoldforZ 1200 more, 88 ’
the gainwould have been ~
20%.Find the costprice of TotalC.P = %2000 +%2,500
the laptop.
= %4,500
Solution: TotalS.P = <2200 +32200
LettheC.P.=x
=34,400
100+20 100+12 = -
x( ) ( )= o Loss = C.P. - S.P.
100 =%4,500 — ¥4,400 = 100
120 12x Loss
— - —— =1200 Loss% = x 100
100 100 .P.
120 - 112 180" 20 2
— —al = 1200 = ——xT® = 2—%
100 #5508, 9
8xr =  1200x100 9
300 150 6.Asum of money becomes I18000in 2
1200 x 100 years and 340500 in 4 years on
r= ———— = 15,000 compound interest. Find the sum.
LIS

5. Vaidegi sold two sarees for 32200
each. On one she gains 10% and on the
other she loses 12%. Calculate her gain
orloss percentageinthe sales.

Solution:
S.P = %2200
100
CP-= P

—a— X
(100 +Gain %)

Solution:
r 2
P(1+ —) =18000........... (1)
100
P(1+ T =40500......... (2)
100
r 4
P (1+— ) 9
100
@ _ Zvsbe.
{) 16( r ) T80D0_
1+— 4
100
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Cl =A-
r V¥ /3\? = 70200-62500
(1+ _) =(_) Cl =37,700
100 2
r 3 Half-yearly
1+ — = — 2
100 2 A =P (1+ T )
T3 o) 2008 o
1000 2 - 62500 [1+ —
1 2
r = — x100
2 104 104 104
208 208 208
r = 50% = 62500 x X X
Substitutein (1) 146 100 100
50 = 70,304
P(1+ — ) =18000 Cl =
= 70304—-62500
150 2 Cl = =\F7,804
P(— ) =18000
100 Differene = 7804-7700
2000 20 4 = %104
6066 100 109
=18000 x — x ——
159 150 Challenging Problems
3
P = 28000 ol 8.Ifthefirst numberis 20% less than the

second numberandthe second number

7. Findthe differenceinthe compound
1
intereston ¥62500for 1 Y years at8 %

p.a compounded annually and when
compounded half-yearly.

Solution:
Yearly:
A=P [1+ —
100
= 62500 [1+
o)
B\ [ < B
_ 62500 (1+ — (1+\9\ )
100 100
25 108 194 26
= 02308 x 180 18Q
4
= 70,200

Send Your Questions & Answer Keys to

is 25% more than 100, then find the first
number.

Solution:

100+25
Second Number =100 x |————
100

125
= XxX—— =125
100-20
First Number = 125 x|———
100
5 Q20
=26 x—— =100
T6Qy
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9. A shopkeeper gives two successive 100 +40
discounts on an article whose marked v b X T
price is ¥180 and selling price is ¥108. 100
Find the first discount percentage if the 140
seconddiscountis 25%. _ —
Solution: 100
a ( b ) Gain = S.P. - C.P.
S.P=M.P x|1- — 1- —
x( 100) 100 ¢ 140 . - 70 _ 70
( a ) ( 25 ) 100 100 100
108=180 x{1- — 1- — Gain
100 100 Gain% = x 100
75
108=180 x{1- — —
X( 100 ) (100) 0z
474 4 00
a _ 188x400 -~ X 100
100 180" x-75— /TZ
5
= 100 %
-a 4
=
100 5 11. Find the rate of compound interest
a 1 atwhich a principal becomes 1.69 times
00 & /? itselfin2years.
1 Solution:
a = x100 = 20%

5

10. A man bought an article on 30 %
discount and sold it at 40% more than
the marked price. Find the profit made
by him.

Solution:
LettheM.P. = x

(100-Discount%)

CP. = x M.P.
100
100-30
= X
100
70
= — T
100
(100+Gain%)
SP. = x M.P.

100

r n
+ &=
100)

r 2
1.69P=P (1+— )
100

A=P (1

ry 1.69™
- %

100 R
r 2 2
1+ — = (1.3
100
r
1+— = 13
100
r
— = 1.3-1
100

r =0.3x100 = 30%
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12. The simple interest on a certain
principal for 3 years at 10% p.a is ¥300.

Find the compound interest accured in
3years.

TERM-II 5 in 1

Solution:

Pnr
Sl= —
100
Px3x10
300 =
100
30D% 100
T 31y
P = 71000

r n
A=P(1+ —
100
10\ °
= 1000 1+ —
100

. g 114
=1ggg  x I X W X T
=31331

Cl= A-P =1331-1000= %331
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‘'SELECTION
8 SCIENCE

TERM -115in1

| UNIT - 1 HEAT |

MIND MAP

l Heat l

| | |
[ Transfer oj ( Calorimetry ) ( Canrimeter)
Heat Heat

* Expansion * Conduction * Temperature
*Increase in * Convection * Unit of Heat
temperature * Radiation * Heat capacity
* Change in state * Specific heat
capacity

( Thermostat ) (' Thermosflask l

TEXT BOOK EXERCISES

l. Choose the best answer.

1. Heat is a form of .

a) electrical energy b) gravitational energy

c) thermal energy d) None of these Ans : ¢) thermal energy

2. If you apply some heat energy to a substance, which of the following can take
place in it?

a) Expansion b) Increase intemperature

c)Change of state d)Allthe above. Ans:d)Allthe above.
3.Whichofthefollowing substances willabsorb more heatenergy?
a)Solid b)Liquid

c)Gas d)Alltheabove Ans:a)Solid
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4.1fyou apply equalamount of heat to a solid, liquid and gas individually, which of
thefollowing will have more expansion?

a)Solid b)Liquid

c)Gas d)Allofthem Ans:c)Gas
5.Theprocess ofconvertingaliquidintoasolidis called
a)sublimation b) condensation

c)freezing d)deposition Ans :c)freezing
6. Conductionisthe heattransferwhichtakesplaceina .
a)solid b)liquid

c)gas d)Allofthem Ans:a)solid

Il. Fillinthe blanks.
1.Acalorimeteris adevice used to measure the .

Ans : heatcapacity of asubstance
2. is defined as the amount of heat required to raise the temperature of 1kgofa
substance by 1°C.

Ans : specific heat capacity
3.Athermostatis a device which maintains .

Ans : the temperature of an object constant
4.The process of converting a substance from gas to solidis called .
Ans :deposition
5. If you apply heat energy, the temperature of a system will
Ans:increase

6. If the temperature of a liquid in a container is decreased, then the interatomic
distance will . Ans :decrease

Ill. State True or False. Iffalse correct the statement.

1. The applied heat energy can be realized as anincrease in the average kinetic energy
ofthe molecules. Ans :True

2. The dimensions of a substance are increased if the temperature of the substance is
decreased.

Ans:False

correct statement: The dimensions of a substance are decreased if the temperature
ofthe substanceis decreased.

3. The process of converting a substance from solid to gasis called condensation.
Ans:False

correct statement: The process of converting a substance from solid to gas is called
sublimation.

4.Convectionis the process by which thethermal energy flowsin solids.Ans : False
correct statement: Convection is the process by which the thermal energy flows in
liquids and gases.

5. The amount of heat gained by a substance is equal to the product of its mass and
latentheat. Ans:False
correct statement: The amountof heat gained by a substanceis equal to the product of
its mass and heat capacity ofasubstance

6.Inathermosflask, the silvered wallsreflect and radiate the heat to the outside.
Ans:False

correct statement: In a thermos flask, the silvered walls reflect and radiate the heat
back totheliquidinthe bottle.
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IV. Match thefollowing: Ans:
1.JConduction a)Liquid 1./Conduction e)Solid
2 |Convection b) Gastoliquid 2.|Convection a)Liquid
3.[Radiation c)Solidtogas 3.Radiation d)Gas
4 |Sublimation d)Gas 4_Sublimation c)Solidto gas
5.[Condensation | e)Solid 5.[Condensation | b) Gastoliquid

V.Read the directions given below and answer the questions.
a) If both assertion and reason are true and the reason is the correct explanation of the
assertion.
b) If both assertion and reason are true, but reason is not the correct explanation of the
assertion.
c)Iftheassertionistrue, butthereasonisfalse.
d)Ifthe assertionisfalse, butthereasonistrue.
1.Assertion: Radiation is aform of heattransfer which takes place onlyin vacuum.
Reason: The thermal energy is transferred from one part of a substance to another part
withoutthe actual movement ofthe atoms ormolecules.

Ans : b) If both assertion and reason are true, but reason is not the correct
explanation ofthe assertion.

2.Assertion: Asystem canbe converted from one state to another state.
Reason: Ittakes place when the temperature of the system s constant.
Ans: c)lftheassertionistrue,butthereasonisfalse.

Vi.Answer briefly.
1.Whatare the applications of conductionin ourdaily life?
Ans : Conductionindaily life:
* We cook food in vessels made up of metals. When the vessel is heated, heat is
transferred from the metal to the food.
* Whenweirondresses heatistransferred fromtheirontothe cloth.

2.Whatare the effects of heat?
Ans:

* Expansion

% Increaseintemperature

* Changeinstate

3.Namethreetypes of heattransfer.
Ans: Threetypesofheattransferare:
% Conduction
* Convection
% Radiation

4.Whatis conduction?

Ans : The process of heat transfer in solids from aregion of higher temperature to a
region of lower temperature without the actual movement of molecules is called
conduction.
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5. Write anote on convection.
Ans : The form of heat transfer from places of high temperature to places of low
temperature by the actual movement ofliquid orgas molecules is called convection.

6. Define specific heat capacity.
Ans: The amountofheat energyrequired toraise the temperature of 1 kilogram of a
substance by 1°C or 1Kis called specific heat capacity of a substance.

7.Define one calorie.
Ans: One calorie is the amount of heat energy required to raise the temperature of 1
gram of waterthrough 1°C.
1 calorie=4.186J.

Vil. Answerindetail.
1.With the help of a neat diagram explain the working of a calorimeter.

Ans : Acalorimeteris adevice used to measure the amount of heat gained orlost by
a substance. It consists of a vessel made up of
metals like copper or aluminium which are good
conductors of heat and electricity. The metallic
vessel is kept in an insulating jacket to prevent ...
heat loss to the environment. There are two holes
init. Through one hole
a thermometer is inserted to measure the
temperature of the contents. A stirrer is inserted
through another hole for stirring the content in the
vessel. The vessel is filled with liquid which is
heated by passing current through the heating
element. Using this device we can measure the
heat capacity of the liquid in the container.

Power supply
+3 p-

Stirrer Thermometer

Insulating
jacket

Metallic
vessel

calorimeter

2.Write anote onthermostat.
Thermostat:

Ans : A thermostat is a device which maintains the temperature of a place or an
object constant. The word thermostat is derived from two Greek words, ‘thermo’
meaning heat and ‘static’ meaning staying the same. Thermostats are used in any
device or system that gets heated or cools down to a pre-set temperature. It turns an
appliance or a circuit on or off when a particular temperature is reached. Examples for
thermostat include building heater, central heater in a room, air conditioner, water
heater, as well as kitchen equipments including oven and refrigerators. Sometimes, a
thermostatfunctions both as the sensor and the controller of athermal system.

3.Explainthe working of thermos flask.

Ans : Working ofthermos flask:

A thermos flask has double walls, which are
evacuated. It is silvered on the inside. The vacuum
between the two walls prevents heat being transferred
from the inside to the outside by conduction and — wowas coftee
convection.With very little air between the walls, there Outer casng
is almost no transfer of heat from the inner wall to the =~ crme
outerwall orvice versa. Conduction can only occur at Thermos flask

Silvered
inner wall
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the points where the two walls meet, at the top of the bottle and through an insulated
support at the bottom. The silvered walls reflect radiated heat back to the liquid in the
bottle.

VIIl. HOT Questions.
1. Why does the bottom of alake not freeze in severe wintereven when the surface
is allfrozen?

Ans: When alake freezes, the upper layer freezes due to being in contact with the
cold atmosphere. This ice sheet doesn't sink as it is less dense than water. This ice
sheetacts like ainsulator and keeps the waterinside warm enough to be in aliquid form.
Thewateronthe surface ofalakeisfrozen.

2. Which one of the following statements about thermal conductivity is correct?
Givereason.
a)Steel>Wood >Water b) Steel>Water>Wood
¢)Water> Steel >Wood d) Water >Wood > Steel
Ans: c)Water > Steel>Wood
Reason:
% Liquid conducts heatfasterthan solid. Sowater conducts heat more than steel.
* Woodisabad conductorof heat.
* Steelisagoodconductorofheat
* So, steel conducts heat more thanwood.

IX.Problems.
1. An iron ball requires 1000 J of heat to raise its temperature by 20°C. Calculate
the heat capacity of the ball.

Ans: Given:

Heatenergy,Q=1000J

Raiseintemperature, AT=20°C=20K

Heatcapacity, C'=?
C’ =QJ/AT
1000J
C= ——
20K
Heat capacity C’'= 50 JK™

2_.The heat capacity of the vessel of mass 100 kg is 8000 J/°C. Find its specific heat
capacity.

Ans:Given: Mass, m=100kg

Heat capacity, C’'= 8000J/°C = 8000J/K

Q
Specificheat capacity,C =
mXxAT
Q
Heatcapacity,C'= —
AT
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03 8000 J/K
Specificheat capacity C= =
m 100kg

= 80J/K/Kg =80JK'Kg"
Specific Heat capacity, C= 80 JK'Kg"

Additional Questions and Answers

I.Choose thebestanswer:
1.Heatexpansionis maximumin........ccccceeeaee
a) solids b) liquids
C) gases d) plasma Ans : ¢c) gases
R o is a bad conductor or insulator.
a) Steel b) Sodium
c) Silver d) Wood Ans : d) wood

3. Heat can be transferred through empty space even through a vacuum by ...................
a) conduction b) radiation

¢) convection d) conjuction Ans : b) radiation
4. The unit of energy in Sl system is ......c..ccormeurees
a) Kelvin b) Celcius
c) Joule d) Fahrenheit Ans : c) Joule
5. The relation between calorie and joule is given as 1calorie =................... J
a)4.798 b) 7.498
c) 4.896 d) 4.186 Ans : d) 4.186
6. The Sl unit of heat capacity is ..................
a) JK b) JK
c) JKg d) JKg" Ans : b) JK”
7. The vacuum flask was invented by .................
a) Kelvin b) James Dewar
c) Celcius d) Joule Ans : b) James Dewar
8. NN measures the heat capacity of water.
a) Calorimeter b) Thermos flask
¢) Thermostat d) Calorimetry Ans : a) Calorimeter
1. oalmdiLel, is the process of heat transfer in solids. Ans : Conduction
2. e, are good conductors of heat

Ans: Metals
3.Heatenergyfromthe sunreachestheearthby.............. Ans :radiation
. is a physical quantity which expresses whether an object is hot or
cold. Ans: Temperature
5. The mostcommonly used unitofheatis................... Ans:calorie
6. The Slunitofspecificheatcapacityis..........ccc.......... Ans:JKg'K"
7.Theworld'sfirstice -calorie meterwasusedby ..............
and............. Ans :Antoine Lavoisier, Pierre Simon Laplace

8.Inradiation method the heatistransferred as ................
Ans : electromagneticwaves
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Ill. State TrueorFalse. iffalse correctthe statement:
1.Wateristheonlymatterontheearththat canbe found naturally in all three
states-solid,liquidandgas.
Ans:True
2.Conduction takes placeinliquids and gases
Ans : False. correct statement: Convection takes placeinliquids and gases
3. A Thermostat is a device used to measure the amount of heat gained or lost by a
substance.
Ans : False. correct statement: A Calorie meter is a device used to measure the
amountof heatgainedorlostbyasubstance.
4.ACalorie meteris a device which maintains the temperature of a place oran object.
Ans : False. correct statement: A Thermostat is a device which maintains the
temperature of a place or an object.
5.AThermostat functions both as the sensorand the controller of athermal system
Ans :True

176

IV. Match the following.

Ans:
(i) |sublimation gastosolid (i) |sublimation solidtogas
(ii) [ condensation liquidtosolid | [(ii) |condensation gastoliguid
(iii)| freezing gastoliquid (iii) [freezing liquid to solid
(iv)| deposition solidtogas (iv) |deposition gastosolid

V. Short questions and answers:

1.Youwould have noticed some space beingleftinrailway tracks. Why?

Ans : It is because railway tracks which are made up of iron metal expand during
summer. When there is a gap, there will notbe any damage in the track due to expansion
ofthe metalrod.

2.Whatare the applications of convectionindaily life?

Ans : Convectionindailylife:
* Formation ofland breeze and seabreezeis due to convection of air.
% Wind flows from one region to anotherregion by convection.

3. Whatarethe applications ofradiation in daily life?
Ans : Radiationindaily life :
* Heatenergyfromthe Sunreaches the Earth by radiation.
* While standing near fire we feel the heat which is transferred as radiation.

4.Whatis Calorimetry?
Ans: Calorimetryisthetechnique used to measure the amount of heatinvolvedin
aphysical orachemical process.

5. Define heat capacity.
Ans: Heat capacity is the amount of heat energy required to raise the temperature
ofasubstanceby1°Cor 1K.
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Activity :1

Take ametal ball and a metal ring of suitable diameter. Pass the metal ball through
thatring. You canobserve thatthe metal ball can easily go through it. Now heat the
metal ball and then try to pass it through the ring. It will not pass through the ring.
Keep the metal ball on the ring for some time. In few minutes, it will fall through the
ring.

Ans : When the ball is heated the atoms in the ball gain heat energy. They start
vibrating and force each other apart. As a result an expansion takes place. That’'s why
the ball did not go through the ring. After some time, as the ball lostthe heat energy to the
surrounding it came back toits original size and it went through the ring. This shows that
heat energy causes expansion in solids. This expansion takes place in liquids and
gasesalso. |tismaximumingases.

Activity 2

Take a cup of water and note its temperature. Heat the water for few minutes and
note the temperature again. Do you find any increase in the temperature? What
caused the temperature change?

Ans : Whenthe wateris heated, water molecules receive heat energy. This supplied
heatenergy increases the kinetic energy of the molecules. When the molecules receive
more energy, the temperature of the water increases. This shows that heat energy
causesincreaseintemperature.

Activity 3

Take fewice cubesinacontainerand heatitfor some time. Whathappens? Theice
cubes melt and become water. Now heat the water for some time. What do you
observe? The volume of water in the vessel decreases. What do you understand
from this activity?

Ans : Inice cubes the force of attraction between the water molecules is more. So
theyare close together. When we heatthem the force of attraction decreases and theice
cubes become water. When we heat the water, the force of attraction between the
molecules decreases further. Hence they move away from one another and become
vapour. Since watervapour escape to the surrounding, waterlevel
decreases further. From this we understand that heat energy causes change inthe state
of the substances. When heat energy is removed, changes take place in reverse
direction.

Activity 4
Take hot water in a cup and put a silver spoon in it. Leave the spoon inside the
waterforsometime. Nowtouch the end ofthe spoon. Doyoufeel the heat?

Ans: Yes, | feel the heat.

Activity 5

Take some water in avessel and heat it on a stove. Touch the surface of the water.
It will be cold. Touch it after some time. It will be hot now. How did the heat which
was supplied atthe bottomreach the top?

Ans : When water in the vessel is heated, water molecules at the bottom receive
heat energy and move upward. Then the molecules at the top comes down and get
heated. This kind of heat transfer is known as convection. This is how air in the
atmosphereis also heated.

8l15in1E.M-12

Send Your Questions & Answer Keys to our email id - padasalai.net@gmail.com



www.Padasalai.Net www.TrbTnpsc.com

SELECTION 8 SCIENCE 178 TERM-II 5 in 1

Activity 6
Take some amount of water and cooking oil in two separate vessels. Heat them till
they reach a particular temperature (Caution: Heat the oil under the supervision
ofyourteacher). Whichoneis heated first? Water will take more time to get heated.
Why?

Ans:
* Oilis heated first.
* Becausethe amountof heat energy gained by the substance is determined the heat
capacity ofasubstance.
* Oilhas more heatcapacity than water.
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Unit -1. Educational Developmentin India

Education in
Ancient India
— Sources of learning
— Education System

—Viharas and Universities
— Role of Teacher

Education in Medieval
Period

Modern
System of

Educational Education
Modern C— Development — - Roig qf
Period in India Christian
Missionaries
— Education in
the British

Rule

Educational
Development in
Tamilnadu

e/

SSA &
RMSA

Educational
Development of
Independent

India

National
Policy on Education

l. Choose the correct answer

1. The word ' Veda' is derived from .......ccccccunins
a) Sanskrit b)Latin c¢) Prakrit d) Pali

Ans : a) Sanskrit
2. Which of the following was an important centre for the learning in the ancient
period ?
a) Gurukula b) Viharas c)Palli d)Allof these

Ans :d)All ofthese
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3. Nalanda, the oldest university in India was located in
a) Uttar Pradesh b) Maharashtra c)Bihar d) Punjab
Ans:c)Bihar
4. When did the UNESCO declare Takshashila as world heritage site ?
a)1970 b) 1975 c) 1980 d) 1985
Ans :¢c)1980

5. Which European country were the first to start Modern System of Education in
India ?
a) British b) Danish c) French d) Portuguese
Ans : d) Portuguese
6. Which of the following Charter Act made a provision for an annual grant one lakhs
Rupees forthe promotion of Education in India ?
a) CharterActof 1813 b) CharterAct of 1833
c) Charter Act of 1853 d) Charter Act of 1858
Ans : a) Charter Actof 1813
7. Which of the following Commission recommended to constitute the University
Grants Commission ?
a) Sergeant Report, 1944
b) Radhakrishnan Commission, 1948
¢) Kothari Commission, 1964
d) National Education Policy, 1968
Ans : b) Radhakrishnan Commission, 1948
8. Inwhich year the New Education Policy was introduced in India ?
a) 1992 b) 2009 c) 1986 d) 1968
Ans:c) 1986

Il. Fillin the blanks
1. Theword 'Veda' means.........cccueevererrsssnneensas Ans : to know
2. Taxilaruins were discoveredby...........ccccnivnicccnnes
Ans : Alexander Cunningham

< TR N T s was the firstruler to establish a madrasa at Delhi.
Ans : Iltumish
4. The New Education Policy was revisedin................cceeene Ans : 1992
O e is the primary vehicle for implementing the provisions of the Right to
Education Act of (RTE) 2009. Ans : SSA (Sarva Shiksha Abhiyan)
6. Mid - day meal program was introduced in schools in.................... Ans : 1956
lil. Match the following Ans:
1.|1-Tsing Saraswathimahal 1.|1-Tsing Chinese scholarl
2.|Francis Xavier Magnacarta of 2.|Francis University at
Indian Education Xavier Kochin
3.|Wood’sDespatch | Western Education 3.|Wood’s Magnacarta of
inMadras Despatch [Indian Education
4.| Sarafojill University at 4.|Sarafojill |Saraswathimahal
Kochin
5.|SirThomas Munroe [ Chinese scholar 5.[SirThomas |Western Education
Munroe in Madras
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IV. State True or False
1. The writings of Charaka and Sushrutha were the sources oflearning of medicine.

Ans : True
2. Templeswere the centers oflearning and played an active role in the promotion of
knowledge. Ans : True
3. The Jatakatalestell usthatthe kings and society took an active interestin promoting
education. Ans : True
4. Women education in Indiawas not prevalent during the medieval period. Ans : False

5. The RMSA scheme was implemented during tenth Five Year Plan. Ans : False

V. Consider the following statements and tick the appropriate answer
1.i) The Nalanda University was founded in fifth century C.E

ii) In ancient India teachers had complete autonomy in all aspects from selection of

students to designing their syllabi
iii) Inancienttimes the teacher was called Kanakkayar.

iv) Thefamous college during the Chola

period was Kandhalursalai.

a)iandiiare correct b)iiandivare correct
c)iiiandivare correct d)i, iiandiiiare correct
Ans :d)i,ilandiiiare correct

2. Find outthe CorrectPair

a)Maktabs - Secondary School
b)Macaulay’s Minutesof 1835 - English education
¢) Operation Blackboard - Secondary Education Commission
d) Salabhogam -Lands were given totemples
Ans : b)Macaulay’s Minutes of 1835 - English education

VI. Answer the followingin one or two sentences

1. Write aboutthe importance of Gurukulas?

Ans : Importance of Gurukulas :

* In Gurukula System, the gurus and Their Shishyas (Pupils) Lived together helping each
otherin day - to day life

* The main Objectives was to have Complete Learning, Leading a disciplined life and
realising one's inner potential.

2. Name the mostnotable universities that evolved in ancientIndia ?
Ans : The Most notable universities that evolved in ancient India were,

* Taxila *Nalanda *Valabhi
*Vikram Shila * Odantapuri * Jagaddala
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3. Write ashortnote on Taxila ?

Ans : * Taxila was an ancient Indian city, which is now in northwestern Pakistan. It is an
important archaeological site and the UNESCO declared. itas aworld heritage site in 1980.

* Its fame rested on the university where Chanakya is said to have composed his
Arthashastra.

* Archaeologist Alexander Cunningham discovered its ruins in the mid-19 th century.

4. Mention the education centres flourished in cholas period ?
Ans : Education Centres Flourished in Cholas Period are,

* Raja raja Chatur Vedimangalam - Vedic College
(Ennayiram in Former South Arcot District)

* Tirubuvanai - Vedic College (Pondicherry )
* Viravajendra - Medical College

5.Expand SSA and RMSA

Ans:

SSA  —= Sarva Shiksha Abhiyan

RMSA —=— Rastriya Madhyamik Shiksha Abhiyan

6) What do you know about RTE. ?
Ans:

* RTE is Right to Education
* It Provides free and Compulsory education to all the children from the age of 6 to 14 years .

* SSA is the primary vehicle forimplementing the provisions of the Right of Children.
and Compulsory education Act. (2009)

VII. Answer the following
1. What were the sources of educationin ancientIndia ?
Ans: Sources of Education:

* Panini, Aryabhata, Katyayana and Patanjali. Writings and the medical treatises of Charaka
and Sushrutawere some ofthe sources oflearning.

* Various disciplines such as history, logic, interpretation, architecture, polity, agriculture,
trade, commerce, animal husbandry and archery were taught.

* Physical education too was an important curricular area and pupils participated in games
and recreational activities.

* The Gurus and their students worked conscientiously together to become proficient in all
aspects oflearning.

* Inorderto assess students' skills, literary debates were organised.
* Students atan advanced stage oflearning guided younger students.
* ASystem of Peer learning was also practiced.
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2. Write a paragraph about the education under the British rule ?

Ans : Educationinthe BritishRule

History of education in British rule can be divided into four periods:

(i) From The Early Days Of The British Rule Up To 1813

(i) Period From1813 - 1853

(iii) Period From 1854 - 1920

(iv) Period From 1921 - 1947

* In 1813, the East India Company was compelled to assert the responsibility for the
education ofthe Indians.

* Charter of Act of 1813 made a provision for an annual grant of a sum of 1 lakh rupees forthe
promotion of education in India.

3. Describe the national policy on Education ?
Ans: National Policy on Education

* The first National Education Policy of 1968 marked a significant step in the history of
educationin post-independentIndia.

* ltaimed to promote national progress, a sense of common citizenship and culture and to
strengthen nationalintegration.

* In1986, the Government ofIndia introduced a New Education Policy.

* The aim of New Education Policy was to transfer a static society into a vibrant one with
acommitmentto developmentand change.

* It emphasised on equal opportunities for marginalised sections of the country and the
removal of disparity through scholarships, adult education and open universities, especially
forrural India.

* The New Education Policy called for a child-centred approach in primary education and
launched Operation Blackboard toimprove primary schools nationwide.

* The New Education Policy was revised againin 1992.

* It envisaged the formulation of a National Curriculum Framework, emphasis on in-service

education, improvement of facilities and streamlining of the evaluation system at the
secondary stage.

4. Give adetailed account on education under Cholas ?

Ans:

* The Chola period was the most brilliant and creative period in the Tamil literature. Tamil
education enjoyed a greater connection with religion and temple.

* Free education was given to people.

* The curriculum and syllabi had a theoretical background.

* From the inscription of that period, we can now gain knowledge about the qualification of

teacher, method of teaching, salary of teachers, food provided to the students and the land
giventotheschools etc.

* Rajaraja Chaturvedimangalam was the famous seat of a Vedic college (Ennayiram in
Former South Arcot district).

* At Tirubuvanai (in Pondicherry) Vedic college flourished. The Tiruvidaikkalai inscription
mentions alibrary.

* Tiruvaduthuraiinscription of Viravajendra refers to amedical school.

Send Your Questions & Answer Keys to our email id - padasalai.net@gmail.com



www.Padasalai.Net www.TrbTnpsc.com

SELECTION8SOCIALSCIENCE 233 TERM-115in1

VIIl. HOTs

1. How does the flagship programme of SSA achieve Universal Elementary

Education ?

Ans:

* The Sarva Shiksha Abhiyan (SSA) is the Government of India’s flagship programme that
was launched in 2000 - 01 to achieve Universal Elementary Education (UEE).

* SSAis now the primary vehicle for implementing the provisions of the Right of Children to
Free and Compulsory Education Act (2009) (RTE).

* Right To Education (RTE) provides for free and compulsory education to all the children
fromthe age of 6 to 14 years.

* The SSAinitiates a variety ofinnovation and activities related to schools.

* Some important activities include providing the Mid-Day Meals and stipends for students,
the setting up of School Management Committees (SMCs) and provision of teaching learning
materials for classrooms.

IX. Mark the following places on the outline map of India

1.Nalanda 2. Taxila 3.Valabhi 4.Kanchi
5.Vikramshila 6.Delhi 7.Lucknow  8.Allahabad
9.Cochin 10.Calcutta 11.Madras 12.Chidambaram
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X. Project And Activity
1. Collect the pictures of ancient educational centres and prepare an album.

2. Find out the historic importance of Nalanda, Taxila and prepare a power point
presentation onit.

Additional Questions and Answers :

I. Fillin the blanks.

T e University is envisaged as a centre of inter - civilisational dialogus
Ans : Nalanda
2. e introduced education for non-christian children.

Ans : John Kier nander

3 established 20 free reading school in Tranquebar

Ans:Dr.C.S.John
4. Thefirst Bishop of calcuttais....................

Ans : Dr. Middleton
S T Report was prepared after second world war

Ans : Sergeant
6. Wardha Scheme was evolved by ................

Ans : Gandhiji
7. The Pandya Kings Patromised Sanskritand is revealedin............... plates.
Ans : Copper
8. was a strong advocate of vernacular education

Ans : Mountstart
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